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Physics Credit Level 2002

1. (a) The transmitter transmits a radm s1gnal
which consists of an audio waveand a -
carrier wave. ‘T'he process of combiring
these waves is known as modulation, .

¢ (b (i) Any correct answer relating to s1gnaj e
strength—hills/diffraction/distance/ ~
interference/far away/out of range

(i) (different) frequency/wavelength

- 20 (a) (s) 3><10 m/s

© 100/’ib1__,j(;'nin
(&) infrared/IR
{¢) (the) Moon

3. (@) ) 830
(i} resistance is co;
straight line throy
or since IV andI ;
(b)) notastraight lirie gra
o gradient T; is not cons
(i) (A)32A
(B) 384W

4(,;,) ‘k (1) (circuit} Y
S (u) Any two from

- thinmer wire/less current per cable/
L convemence (of addifig new sockets
eat/cost/safety/less voltage drop

ghiirig c1rcu1t is simple parailel—bec

_'-or defelent fuse value—becaus

‘ currents :

{e) (i) larger cavrent/lot of grle‘t
o (i) 15840000())

_ (ci) (i) safety or an implicati

' prevent electrocuti

: (ii) casing live (be¢an

gives low resista{it&:

fuse blows; applia




Physics Credit Level 2002 (cont.) 9. (a) 4200]

® MQ
5, (a) (i)} (soundsof)f>20000Hz - (i) 1-8 m
or sounds above upper frequency/pitch (iii) energy is transferred (as heat)
value

.. _5 due to (the force of) friction
(i) 125x10 s

(B (i) (ultra) sound reflects off baby (in womb)
refiected (ultra) sound is picked up {by

or energy is lost to the system

or worls done against friction

- receiver) 10. (a) 05s
(i) ultrasound does not damage cells 2
< d fivine) cell By 2:0m/s
or X-rays can ' amage TV}I:’lg) ce 's - © () 240m (ii) 2875 m (29 m)
or ultrasound is not ionising radiation
or X-rays are ionising radiation L i1. (o) 300

=800

(i) 2:7Q2

12. (a) 15120(]) -
(®) (@) 995Tkg oC”
(i) (A)

13. (@) weightpe;

@

- Stage

oil the Moon

at a point

during the 0
journey
on the Earth 10

Any one

greater light output/wh
current device




Physics Credit Level 2003

1. (@)

(d) v ::':1 2 mfs

B f =025 1
(@ A=48m
' d
(dv=y
wave travels d = lﬂ.f{
_A L
50U =77 butf7T 8
OR

frequency is numbei
wavelength is leng
= fx A= "length” T

Ja) () 230V
C(d1) parallel
WI=074A
' (c) R=481Q
“(d) To protect the flex/(r
. fuse melts instead of {
" overheating :
. () {1or5)and (2 or 4) and
{(h) (1 or 5y and 3 OR green +
: (c) 2 or 4 OR blue

5 (a)

(=)

() 40 D

(a)3 A
By V=6V
()R, =60Q

(d) more current/double current/cuuent =6A
50 total resistance musf be reduced/'halved

(a) Tirne taken for the acthlty/no aof radioactive
nuclei to reduce by one half (of the orlgmal
value/fmumnber) -

(b) (i) Alpha radiation would (all) be absoibed by
thepap,ér'"“ o
OR
Alpha radi
(i} R '
Beta r'lchahon hot completely absorbed (by

n ‘_has too short a range

Long half- ’hfe (for continuous operatlon)

() To absmb radntmn given out in other ;
dlrectlons (thani towards paper)/safetyyio: protéct
workers

(d) 4 hours
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Physics Credit Level 2003 (cont.)

8. (a) AND

(b}

Output R

) @) (C cl1sch'1rged
C chalges (threugh R)/

‘transistor') €a
OR. ‘

Decrease of volta s
transistor) canges the

10. (a) (i) first
(ii) second

(b) 14m
(¢) a=-45m/s

1l.{a) (/) IN
(1) a=05m/s®

(#) constant/uniform/steady sp
forces are balanced ’

se. of the ' _
'to sw1tch off. :

because the

12. (a) step-down
(b) n, = 240 (iurns)

(c) (i) (AYP,,=06486W
(B)I,=03A
(i} Any one from:
» power loss due to hf:atmg in coils .
* power loss due to 1651stance of wxres/cods

(11) Any two fwm -
« friction in bearmgs/wheel/gene ator .
» heatmg in generator : X
s resistance in wires .
s aplashing/water | loss (f1orn b clee
(111) t_— 700 s

s 1v) Any one from:
» nat all the heat i is tlansfelred t

. herltmg (the fal:u
» heat loss to the envn onment

electromagnetic spectrum

) (1) Gamma: stenhsmg (medical i

+ Ultraviolet; tanmng (w1t
Infrared - treating mjune
lamp) OR lmkmg (netwm
(through optical flbres)
(i) longest wavelength: ififrdi
highest frequeéncy: garm

a) t=018s
f(b) constant velocity (speed) ho
vertieal/downwards accelenatl
(caused by gravity)
oRr
no unbalanced force horiz
downwards force (of grav

() d=0-162 m (= 16:2 cnd).



